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1. BUEALD T
(o) SRARAT B BUSIL B M 5557 2 FRMERR (Homogencons Solution) 1 , — (¥ 5 5 Aol >
T 7 2 T A B S (MU L SRAEDRS, AR LA e B 72 (1) B (29%), 8
T 2 5 (2) F ek (3%)
(b) SRR WA BB PE SR 777 2 BRI (Paticalar Solution) 22 75V 2 24 (3) 753 (2%).
() X2Y" + XY+ (NX? )Y =0
LMWy G 2 2 FEEEI T F2 (Bessel's cquation), 2 v 25 T MU , H R —RRTE 024
4)(2%), X8 v B IFREBNE , E AR 2 JER 2 (5)(2%)

(Y XY 4 XY — (AKP 4 )Y =0

LM TS 7 A3 TF HZEHT A 0 (Modilicd Bessel’s equation), 8 v 2808y I%, B2 —
FRTENAS (6)(2%), B v 2 FF R B , HAE 2 75304 (1)(2%)
(e) BRI =M ST S
(Un'ﬁ?ﬂ[ﬂﬁﬁ%ﬁﬁ*?ﬁziﬂf‘rﬂﬁﬁ_ﬂ { BT FS B i - Tree Body Diagram) %25 HE¥;(5%)
2) F N U N B % i 2 (B 8 R B (Transfer function of the system)G(s) B % BRI

{Gent*rallzed Impedance of the system)Z(s).(5%)
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2. {25%) The velocity vector field for the two-dimentional flow of a fluid around a cylinder is given
by
2
» at -yt 22y =
Fle,y) =4 {1 ~ -
(T 3,‘] [( (x3+y2]2 L (.T_':.! +y2)ij

where A i3 some positive constant,.

(a) Show that when the point {x,%) is far from the origin, Frs AL
(b Is the flow irrotational?

(c} Is the low incompressible?
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3. Find the determinant L
(a).{10%) without expanding the determinant - ., .. e o . - .
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